NSRS R a2

EHES 16-12-23-065
EiERaF PERARES
EHET -8B RE LERE - ZEER
B% LEE

EE@H O0m

FERS

FHIEE BILEXE
FEHEBE BEEBIREE
BEn#ls REBRHE




iEx TR R A S R
2 £ K - BARTiE By = € B =

B R 7,517,950 + 210, 258 7,728,208
EEAGE 7,517, 950
EERE 210, 258
T DR A 7,517,950 x 53.85% ( 35% + (1 — 35%) ) 4,048,416
RHRIE 7,728,208 + 4,048, 416 11,776, 624
—REEAF 11,776,624 x 53.85% ( 35% + (1 — 35%) ) — 8,336 6,333,376
e T 11,776,624 + 6,333,376 18,110, 000
HERSELE 18,110,000 x 10.00% 1,811,000
EHREH 18,110,000 + 1,811,000 19,921,000




BEANRE N Ry e e

% [ R - AR B # B B ® # wmE

BRI 1,728, 208

RETES 1,728, 208

ES B 1,728, 208

ES B 409, 000

EREtETE 117, 400

1 B&&tatE 1.00 117, 400 117, 400

=
#iE - & 291, 600
2 & - W& 4.00 72,900 291, 600
]

AR SR & 4,034,700

(G 2,516, 600

3 EHEE (1) —1 LBJoy Y L8I (hitIVER) | KBRRA 1.00 310, 750 310, 750
247

4 BEFREtE (1) —2 I L—rL—ILEERA. RERR 1.00 497,100 497,100
247

5 EEERETE (1) —3 I L—r L—ILERER. #ERR 1.00 497,100 497,100
247

6 EfEtHE (1) —4 LBJoy Y L8I (hitIVER) | ERRR 1.00 2179, 650 219, 650
247

1 EEEREE (1) —5 I L—rL—ILEERA. ERARSR 1.00 466, 000 466, 000
247

8 ECERETE (1) —6 I L—r L—)LEEER. ERARSR 1.00 466, 000 466, 000
247

B 4F Bk 891, 400

9 HmEEHR—1 LET0y Y LET (R Y#EREF) 1.00 258, 000 258, 000
247

10 MEER—2 I L—r L—ILERERA 1.00 316, 700 316, 700
247

11 HMEfER—3 7 L—2 L—ILERERER 1.00 316, 700 316, 700
247




BEANRE N Ry e e

% [ R - BRI B B B ® #® wmE
HEHE 626, 700
12 HEHE-1 LEJ0y Y LET (R Y#EREF) 1.00 208, 900 208, 900
247
13 HEHE—2 I L—r L—ILERERA 1.00 208, 900 208, 900
247
14 HEHE—3 2 L—2 L—ILERERER 1.00 208, 900 208, 900
247
EhEakE 3,074, 250
TEERBIR A R DRES 801, 800
15 MERERAZDRE 1.00 801, 800 801, 800
=
B 4F Bk 571,750
16 HEER 1.00 571,750 571,750
247
HEFHE 402, 900
17 $E5HE 1.00 402, 900 402, 900
247
BMEIEEOHEE 555, 400
18 METEEDETE 1.00 555, 400 555, 400
=
IRERDER 392, 200
19 TREROEM 1.00 392, 200 392, 200
=
BE 100, 500
20 BE 1.00 100, 500 100, 500
=
bEXY)] 243,700
21 |EEER 1.00 225,900 225,900
=
22 NEARBRRBOER 1.00 17, 800 17, 800
=




BEANRE N Ry e e

% [ R - BRI B B B ® #® wmE

EERE 210, 258

EHARE 71,258

23 EHARE 1.00 71,258 71,258
=

B 97, 000

24 XBFRRER 1.00 97, 000 97, 000
=

Z 0t 42,000

25 ETEREHE 1.00 42,000 42,000
=




RABSR - ST/ 87— BRI S X
BS 1
27 : REEHE 125y
# U - KT 5 Efi g & ff # I =
EAERER (R
A 1.00 62, 200. 00 62, 200
HE (A)
A 1.00 55, 200. 00 55, 200
a &t fEZERES : 1.00= 117, 400. 00 117, 400
B5S:2
A i WS 1B Y
% G it - KT 5 B ! R # o= =
R (A)
A 0.50 55, 200. 00 27, 600
XEh (B)
A 1.00 45, 300. 00 45, 300
& it EERES - 1.00[= 72, 900. 00 72,900
BS:3
&% REHE (1) —1 LEINys LSBT (hEYYEE) . #BERR 15475y
% # U - KT 4 Efi g & ff # I =
EAERER (R
A 2.00 62, 200. 00 124, 400
HE (A)
A 1.50 55, 200. 00 82, 800
HEF (B)
A 1.50 45, 300. 00 67, 950
HEF (C)
A 1.00 35, 600. 00 35, 600
a &t EEREN - 1.0054 7 310, 750. 00 310, 750
iS4
B BHHE (1) —2 JL—rL—LEREBH. KBRS 15474Y
% %fr\ it - IR 5 B ! R # o= # =
EFERER (R
A 2.00 62, 200. 00 124, 400
R (A)
A 3.00 55, 200. 00 165, 600
XEh (B)
A 3.00 45, 300. 00 135, 900
HET (C)
A 2.00 35, 600. 00 71, 200
& it EEREN (1,002 14T 497, 100. 00 497,100




RABSR - ST/ 87— BRI S X
BS:5
&% BHHE (1) —3 I L—UL—LEREE. #BRA 15474Y
% # s3#t - AT #h % ¥ # m = %
R (RF)
A 2.00 62, 200. 00 124, 400
R (A)
A 3.00 55, 200. 00 165, 600
HE (B)
A 3.00 45, 300. 00 135, 900
HER (C)
A 2.00 35, 600. 00 71, 200
a Ell EEREN 1,002 47 497, 100. 00 497,100
BES:6
BFREHE (1) —4 BTy LSBT (GHOYER) . ERRR 15475y
%fr\ 318 - IS i g B # m = B
LR (R
A 1.50 62, 200. 00 93, 300
REF (A)
A 1.50 55, 200. 00 82, 800
RE (B)
A 1.50 45, 300. 00 67,950
RE (C)
A 1.00 35, 600. 00 35, 600
a Bl E¥8EH :1.00524F 279, 650. 00 279, 650
B85
£ BHHE (1) —5 & L—>L—LE#ER. ERER 15475y
2 G 315 - T3 #h g # @ # m =
LR (R
A 1.50 62, 200. 00 93, 300
REF (A)
A 3.00 55, 200. 00 165, 600
RE (B)
A 3.00 45, 300. 00 135, 900
RE (C)
A 2.00 35, 600. 00 71, 200
a Bl E¥8EH :1.00524F 466, 000. 00 466, 000




RIER-FTEL/Svr—

EERBTRERERAERS

B#E:8
L BAEE (1) —6 I L—rL—)LEBRER. FHABR 19474y
% f I - AT B = B | W OB & &
FEHAR GRED
A 1.50 62, 200. 00 93, 300
AR (A)
A 3.00 55, 200. 00 165, 600
AR (B)
A 3.00 45, 300. 00 135, 900
AR (C)
A 2.00 35, 600. 00 71,200
& HJ EEREN 1.008 147 466, 000. 00 466, 000
&5 :9
2% IE#Es—1 LBEJoyv s E8T (fhitgy#Es) 194740
b R - BT B = B | W OE B &
B G&EH
A 0.50 62, 200. 00 31,100
AR (A)
A 1.50 55, 200. 00 82, 800
AR (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
BKifr&
A 2.00 31, 600. 00 63, 200
& it YE¥HeH 1,002 47 258, 000. 00 258, 000
%S :10
£ IEER—2 2 L—2L—/LERSEHE 19474y
% f I - KT B = B | W OB & &
FEHAR GRED
A 1.00 62, 200. 00 62, 200
AR (A)
A 2.00 55, 200. 00 110, 400
AR (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
HitT g
A 2.00 31, 600. 00 63, 200
& g EEREN :1.0058 147 316, 700. 00 316, 700




RIER-FTEL/Svr—

EERBTRERERAERS

5.1
2 IEfEKR—3 Y L—2L—LEEEREA 19474y
% f I - AT B = B | 5 =
FEHAR GRED
A 1.00 62, 200. 00 62, 200
AR (A)
A 2.00 55, 200. 00 110, 400
AR (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
Hift g
A 2.00 31, 600. 00 63, 200
& &t EEREH :1.008 147 316, 700. 00 316, 700
BES 12
2% BMEHE—1 B Jov s LEHIT (hity Y ER) 194740
4 [ i - KT & By = B | B &
B G&EH
A 0.50 62, 200. 00 31,100
BEm (A)
A 0.50 55, 200. 00 217, 600
BER (C)
A 2.00 35, 600. 00 71, 200
BKifr&
A 2.50 31, 600. 00 79, 000
& Hi 1E%BEH 1.0 147 208, 900. 00 208, 900
&5 .13
M HEHE—2 S L—rL—LEEEA 19474y
% f I - KT B = B | 5 =
FEHAR GRED
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217, 600
AR (C)
A 2.00 35, 600. 00 71, 200
HitT g
A 2.50 31, 600. 00 79, 000
& i %8N :1.00524F 208, 900. 00 208, 900




RIER-FTEL/Svr—

EERBTRERERAERS

&5 .14
WM BEHE—3 I L—2L—LEEEA 19474y
% f I - AT B = B | W OB & &
FEHAR GRED
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217, 600
AR (C)
A 2.00 35, 600. 00 71,200
HifT g
A 2.50 31, 600. 00 79, 000
& HJ EEREN 1.008 147 208, 900. 00 208, 900
&S 15
2 EEREmAEOBEE IE=1)
% b I - AKTE B = B | W OB & &
FEHAR BRED
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.00 55, 200. 00 110, 400
AR (B)
A 5.00 45, 300. 00 226, 500
AR (C)
A 6.00 35, 600. 00 213, 600
HitT g
A 5.00 31, 600. 00 158, 000
& HJ YEZHED - 1.00K 801, 800. 00 801, 800
&S .16
2% REER 194 74Y
4 [ i - KT & By = B | W OE B &
e (B)
A 1.50 45, 300. 00 67,950
HEh (C)
A 5.00 35, 600. 00 178, 000
BKifr&
A 10. 50 31, 600. 00 331, 800
& it YE¥HeH 1,002 47 5717, 750. 00 5717, 750




RER-FET/ v —o IN=F: R E S TR e
&5 .11
2% BEFHE 19474y
% f I - AT B = B | 5 =
AR (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 2.50 35, 600. 00 89, 000
Hift g
A 8.50 31, 600. 00 268, 600
& HJ EEREH :1.008 147 402, 900. 00 402, 900
&S .18
& MEIZEBEDETE IE=1)
[ i - KT & By = B | B &
B G&EH
A 1.00 62, 200. 00 62, 200
BEm (A)
A 2.00 55, 200. 00 110, 400
e (B)
A 4.00 45, 300. 00 181, 200
HEh (C)
A 3.00 35, 600. 00 106, 800
BKifr&
A 3.00 31, 600. 00 94, 800
& it YE%EHED - 100K 555, 400. 00 555, 400
E5:19
2% TEEROMER IE=1)
L I - KT B = B | 5 =
FEHAR BRED
A 0.50 62, 200. 00 31,100
AR (A)
A 1.00 55, 200. 00 55,200
AR (B)
A 3.00 45, 300. 00 135, 900
AR (C)
A 3.00 35, 600. 00 106, 800
HitT g
A 2.00 31, 600. 00 63, 200
& g YEZHED - 1.00K 392, 200. 00 392, 200




Rifik- BT/ Svr— PR e £
&5 :2
% L R - BARHiE B = B £ W OE " &=
e (A)
A 1.00 55, 200. 00 55, 200
A& (B)
A 1.00 45, 300. 00 45, 300
& &t 1ERBES - 1.00=K 100, 500. 00 100, 500
BEE: 2
B MEEER 1XHY
g & - BAKTiE B = B ff £ = w &
FEHER (BRED
A 1.00 62, 200. 00 62, 200
BEm (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.00 45, 300. 00 45, 300
& (C)
A 1.00 35, 600. 00 35, 600
& Hi 1EZBER - 1.00=K 225, 900. 00 225, 900
&5 :22
2% ABRABR&ADIER =10
% L R - BARHiE B = B £ W OE " &=
A& (C)
A 0.50 35, 600. 00 17, 800
& i 1ERBES - 1.00=K 17, 800. 00 17, 800
5:23
%ﬁ‘ : $?§Fﬁ|ﬁ: ]it% L}
£ g R - BAKTiE B = B £ = " &
EHAME
= 1.00 71, 258. 00 71, 258
“S‘ & 1EZBER - 1.00=K 71, 258. 00 71, 258
&5 .24
£ EBHRES =10
g & - BARHE B = B ) W OE " &=
EBRRERE
= 1.00 97, 000. 00 97, 000
& &t 1ERBES - 1.00=X 97, 000. 00 97, 000




Rtz - T/ \vr—

&5 :2
¥ EIEERE

EERBTRERERAERS

ES)
% # s - IR TR B % B B & W = =
EZAULIRE EGE=T.
% 1.00 42, 000. 00 42,000
& fEsBEN < 1.00s 42, 000. 00 42,000




